8 7 6 \ 5 3 2
ITEM NO.| Part Number DESCRIPTION Revision | QTY.

1 MCA016992 Cabinet Assembly 3 1

2 MCA016993 Grille Assembly 1

3 MCA016997 2051 Rear Panel Assembly 1 1

4 MCA016994 SAT Right Pin Bracket Assembly 4 1

5 MCAO016996 SAT Rear Pin Bracket Assembly 4 1

6 MCA016995 SAT Left Pin Bracket Assembly 4 1

7 MCA014010 ED1227_B-modified & CDX1-10WG 16 Ohm 1

8 MCI014370 5 inch - 100-45-15Y35 - 8 Ohm 2

9 MCI013988 Xover PCB 1

10 14578 14mm - Push In Foot - Round Flat - Black - 4

11 MCMO015194 M8 x 30mm - CSK Head - Hex - Machine Screw - Black - 6

12 MCMO017032 M5 x 25mm - CSK Head - Hex - Machine Screw - Black - 4

13 MCMO015177 |  (No.6) 3.5mm x 16mm - CSK Head - Hex - Wood Screw - Black - 8

14 | MCM017033 No.8 x 10mm - Button Head - Hex - Wood Screw - Black - 6

15 14625 M5 x 20mm - Cap Head - Hex - Machine Screw - Black - 8

16 | MCMO017031 (N0.8) 4mm x 12mm - Pan Head - Cross - Wood Screw - BZP - 4

REVISIONS DESCRIPTION PROJECT TITLE DWG NO REVISION
REV. DESCRIPTION DATE H | | H FULL ASSEMBLY TNA-2051-G3 MCA016991 4
1 FIRST SAMPLE 05/08/2024 p— DATE: RELEASED BY:
2 UPDATED HOLE SIZES 10/12/2024 L RELEASED REFER TO 3D MODEL FOR FULL DIMENSIONAL DATA | 5g/4 /9925 TB
3 UPDATES FROM FIRST UK SAMPLE 11/12/2024 STEELPARK ROAD,COOMBS WOOD BUSINESS PARK, UNLESS OTHERWISE STATED: THIS DRAWING REMAINS THE PROPERTY OF HH ELECTRONICS LIVITED. SCALE SHEETSIZE: | SHEET
: INCREASED SIDE PANELS T0 16mm 280112025 RN UK @ | e, | AR AR ST 14 | A3 | 12
4

7 6

5

3 2

|




(1N

O(%OOOOOOOOOOOOOO(%OOOOOOOOOOOOOOOOOO(?OOOOOOOOOOOOOOO(?OO

TOP

O
O
O
O
O
@
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
@
O
O
O
O
O
O
O
@
O
O
Oy

088880
0
o8
2030
2030
2050
2020
0
O
28
285
o8
28
o8
o8
'
o8
28
285
o8
28
o8
o8
'
o8
28
o
o8
28
o8
28
285
o8
28
o
o8
28
o8
28
285
o8
28
o
'8
8
o8
28
285
o8
28
o
'8
8
o8
28
'8

888
080
2N
080
2N
080
2N
080
cees
‘ot

OOAOACALALAOAOAC,
(0 g O S W a0 g B g Mg ®)
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
@
O
O
O
a®
O
O
O
@
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
O
(o)

(@

4 1 I —
N " 7 i
© ‘ \ d W ! ‘
| Il I |
] g | Il J I |
163 ‘ | ‘ ‘
4—
| Il I |
| I I |
,, | © | |
@ | = f =
= =
- = = = I
RIGHT REAR
DESCRIPTION PROJECT TITLE DWG NO REVISION
FULL ASSEMBLY TNA-2051-G3 MCA016991 4
STATE: DATE: RELEASED BY:
REFER TO 3D MODEL FOR FULL DIMENSIONAL DATA
RELEASED 28/01/2025 1B
HH ELECTRONICS LTD
STEELPARK ROAD,COOMBS WOOD BUSINESS PARK SCALE SHEET SIZE SHEET
; : UNLESS OTHERWISE STATED: THIS DRAWING REMAINS THE PROPERTY OF HH ELECTRONICS LIMITED.
HALESOWEN, WEST MIDLANDS, B62 8HD, UK
ALL DIMENSIONS ARE IN MILLIMETERS THIS DRAWING, HARD COPY OR DIGITAL, AND ANY ATTACHMENTS ARE ,
VW HHELECTRONICS.CO.UK @ i] LNEAR TOLERANGE 0.5 ANGULAR TOLERANGE =1.0° | CONFIDENTIAL, LEGALLY PRIVILEGED AN PROTECTED BY COPYRIGHT: 1:4 A3 2/2
4

5

3 2

|




